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1. Which	of	the	following	numbers	is	divisible	by	3?
(i) 6283 (ii) 6282 (iii) 6284 (iv) 6280 (v) 6281

2. Which	of	the	following	numbers	is	divisible	by	3?
(i) 4,357 (ii) 4,358 (iii) 4,354 (iv) 4,355 (v) 4,356

3. Which	of	the	following	numbers	is	divisible	by	3?
(i) 5,011 (ii) 5,010 (iii) 5,009 (iv) 5,008 (v) 5,012

4. Which	of	the	following	numbers	is	divisible	by	5?
(i) 5465 (ii) 5467 (iii) 5464 (iv) 5463 (v) 5466

5. Which	of	the	following	numbers	is	divisible	by	5?
(i) 2,269 (ii) 2,272 (iii) 2,268 (iv) 2,271 (v) 2,270

6. Which	of	the	following	numbers	is	divisible	by	5?
(i) 7,479 (ii) 7,482 (iii) 7,478 (iv) 7,481 (v) 7,480

7. Which	of	the	following	numbers	is	divisible	by	9?
(i) 9703 (ii) 9704 (iii) 9700 (iv) 9701 (v) 9702

8. Which	of	the	following	numbers	is	divisible	by	9?
(i) 5,643 (ii) 5,642 (iii) 5,641 (iv) 5,644 (v) 5,645

9. Which	of	the	following	numbers	is	divisible	by	9?
(i) 3,869 (ii) 3,868 (iii) 3,870 (iv) 3,872 (v) 3,871

10. Which	of	the	following	numbers	is	divisible	by	10?
(i) 9719 (ii) 9721 (iii) 9720 (iv) 9722 (v) 9718

11. Which	of	the	following	numbers	is	divisible	by	10?
(i) 9,311 (ii) 9,309 (iii) 9,310 (iv) 9,312 (v) 9,308

12. Which	of	the	following	numbers	is	divisible	by	10?
(i) 2,181 (ii) 2,180 (iii) 2,182 (iv) 2,178 (v) 2,179
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